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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
) 6,005 2) 6,009 3) 7,001 4 3,001
- 680 - 502 -4,251 -_2,511 2
3.
4.
5 3,007 6 2,001 7 9,006 8 3,009 >
-1,298 -1,927 -1,116 -2,373 6
7.
8.
9 2,005 10) 9,006 11) 3,005 12) 3,003 9.
-1,630 -6,053 -2,268 -1,587
E— EE— —_— — 10.
11.
12.
13) 4,005 14) 1,003 15 1,004 16) 7,001 13.
-2,079 - 858 - 962 -1,859
S S S o 14.
15.
16.
17) 1,009 18) 4,001 19 5,003 200 6,001 17
- 1,005 - 944 -4,180 —_4,027
18.
10.
20.
1-10 [95]90[85[80[75] 70] 65] 6055 [ 50
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
1 5,325
) 6,005 2) 6,009 3) 7,001 4 3,001
- 680 - 502 - 4,251 -2,511 > 5507
5,325 5,507 2,750 490
3 2,750
n 490
5 3,007 6 2,001 7 9,006 8 3,009 > 1,709
- 1,298 - 1,927 - 1,116 -2,373 A 74
1,709 74 7,890 636
7 7,890
8. 636
9 2.005 10) 9,006 1) 3,005 12) 3,003 9, 375
-1,630 -6,053 -2,268 ;1,587 o 2,053
375 2,953 737 1,416
11. 737
12 1,416
13) 4,005 14) 1,003 15 1,004 16) 7,001 13. 1,926
-2,079 - 858 - 962 -_1,859
1,926 145 42 5,142 14. 145
15. 42
16. 5,142
17 1,009 18 4,001 19 5,003 20 6,001 . 4
- 1,005 - 944 -4,180 ;4,027
4 3,057 823 1,974 18, 3,057
19, 823
20. 1,974
1-10 [95|190|85(80(75|70| 65|60 |55|50
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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
490 7,890 5,507 1,709
2,750 636 737 375 1
74 1,416 5,325 2,953
2.
1) 6,005 2) 6,009 3 7,001 3.
- 680 - 502 -4,251
- - - 4.
5.
6.
7.
4 3,001 5 3,007 6) 2,001
-2,511 -1,298 -1,927 8.
9.
10.
11.
) 9,006 8 3,009 9 2,005 12
-1,116 -2,373 -1,630
100 9,006 11) 3,005 12) 3,003
- 6,053 -2,268 -1,587
M odified 1-10 | 9283 75|67 [58[50] 4233|2517 |
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